\$249,642.50



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: October 16, 2025

. 5	Contract ID Prime Contr		5-D05 Bridge, LLC	Pay Perio Pay Perio		October 1 October 1	,	Original Contract Amount Net Change Order Amount Current Contract Amount	\$1,098,248.50 (\$1,441.80 \$1,096,806.70
Approval Date									By User
October 16, 2025			Generated	l and Approv	ed (and s	hould be co	nsidered	Draft) at the Project Office Level by	ricksc3
October 16, 2025			Reviewed and	Approved (a	nd should	d be conside	ered Dra	ft) at the Resident Engineer Level by	hopkim1
October 20, 2025				Review	ved and A	pproved at	the Cent	ral Office Controllers Office Level by	ramses1
Original Completion	Current Co	empletion Date Actual Completion Date				ate	% of Current Contract Amoun	t Complete	
December 1, 20	025	Decem	ber 1, 2025					88.70%	
	Co	ontract Informat	ional Dates					Milestones	
Date Description	Original Co	ompletion Date	Current Com	pletion Date	9	N	No Milest	ones Exist for Contract	
Acceptance Date									
Awarded Date	December 4	4, 2024	December 4, 2	2024					
Letting Date	November 1	15, 2024	November 15,	, 2024					
Notice to Proceed Date	January 6, 2	2025	January 6, 20	25					
Work Began Date	May 19, 202	25	May 19, 2025						

Contract Total Pa	ay For Estimate No. 12				
		This Estimate	Previous	To Date	
241115-D05					
	Total Posted Items Pay	\$249,642.50	\$723,238.50	\$972,881.00	
	Gross Item Adjustments	\$0.00	\$15,629.00	\$15,629.00	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
			\$738,867.50	\$988,510.00	
Contract Total Pa	yable This Estimate:	\$249,642.50			

	tems Paid	I This Es	timate	Period
--	-----------	-----------	--------	--------

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JCD0057	0040	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	SQYD	\$18.000	278	\$5,004.00
	0050	4019905	MISC.OPTIONAL PAVEMENT (10" HMA OR 8" JPCP)	SQYD	\$95.000	152.800	\$14,516.00
	0120	6181000	MOBILIZATION	LS	\$35,000.000	0.500	\$17,500.00
	0150	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	SQYD	\$10.000	32	\$320.00
	0200	8061019	SILT FENCE	LF	\$2.950	410	\$1,209.50
	0240	2024043	REMOVAL OF MISCELLANEOUS ACM (NON-FRIABLE)	SQFT	\$250.000	15	\$3,750.00
	0290	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	SQYD	\$225.000	120.650	\$27,146.25
	0310	7034212	SLAB ON STEEL	SQYD	\$295.000	519.650	\$153,296.75
	0330	7040101	SUBSTRUCTURE REPAIR (FORMED)	SQFT	\$175.000	80	\$14,000.00
	0350	7123610	SLAB DRAIN	EA	\$350.000	24	\$8,400.00
	0370	7151001	VERTICAL DRAIN AT END BENTS	EA	\$2,250.000	2	\$4,500.00
Project JCD00	57 - Total						\$249,642,50

Contract Adjustments This Estimate

Overall - Total

No Contract Adjustments Exist on Contract

Line Item A	Adjustr	ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JCD0057	0040	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	Material			-278	\$18.00	(\$5,004.00)
	0040	TYPE 1 AGGREGATE FOR	Material		This adjustment offsets the original system-	278	\$18.00	\$5,004.00

Revision 10/17/2025 Page 1 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: October 16, 2025

Progress Estimate Number 12			41115-D05 E& C Bridge, L		Period Start Period End	October 1, 2025 October 15, 2025	Original C Net Chan Current C	\$1,098,248.50 (\$1,441.80) \$1,096,806.70		
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type		Comments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JCD0057		BASE (4 IN. THICK)			Adjustment overridding I	laterial Payment Estin (0001) due to user rick Payment Estimate Exc Payment Estimate.	csc3			
	0290	BRIDGE APPROACH SLAB (MINOR ROAD)	Material					-120.65000	\$225.00	(\$27,146.25)
(MINOR ROAD) generated Material P Adjustment (0002) do overridding Payment					nent offsets the origina laterial Payment Estin (0002) due to user rick Payment Estimate Exc Payment Estimate.	nate Item (sc3	120.65000	\$225.00	\$27,146.25	
	0310	SLAB ON STEEL	Material					-519.65000	\$295.00	(\$153,296.75)
	0310	SLAB ON STEEL	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user ricksc3 overridding Payment Estimate Exception 5 on the current Payment Estimate.				\$295.00	\$153,296.75
Total					1					\$0.00

Revision 10/17/2025 Page 2 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Co	ontract Project Informa	ation							
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work							
JCD0057	FAS S403(48)	Bridge deck replacement	U	MONITEAU	over Howard Creek ne	ar Jamestown								
JCD0115	FAS S403(49)	Bridge deck replacement	179	MONITEAU	over Moniteau Creek n	ver Moniteau Creek near Jamestown								
Totals b	y Job Nu	ımbers												
JCD0057		l Item Pay Item Adjustme		Item Pay	This Estimate \$249,642.50 \$0.00 \$249,642.50	Previous \$100,799.50 \$15,629.00 \$116,428.50	To Date \$350,442.00 \$15,629.00 \$366,071.00							
					\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00							
JCD0115		d Item Pay Item Adjustme		Item Pay	This Estimate \$0.00 \$0.00 \$0.00	Previous \$622,439.00 \$0.00 \$622,439.00	To Date \$622,439.00 \$0.00 \$622,439.00							
					\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00								

Revision 5/29/2025 Page 3 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JCD0057, Item 3040143, Project Item Line Number 0040, Material Set 304014396, Material 0304SBT15KP - Compacted Type 1 & 5 Base, Acceptance Action Generic 0304SBT15KP is insufficient.	ricksc3: Both QC and QA performed compaction tests on 10/14 with passing grades. It is possible the tests have not been fully processed in that time.	ricksc3	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0057, Item 5031011A, Project Item Line Number 0290, Material Set 5031011A96, Material 0501CCB2.A - Concrete, Class B-2 w/Air, Acceptance Action Generic 0501CCB2.A is insufficient.	ricksc3: Air slump tests have been entered. There has not been sufficient time for any other testing. Will verify and enter testing before next estimate. 5% has been withheld per EPG.	ricksc3	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0057, Item 5031011A, Project Item Line Number 0290, Material Set 5031011A96, Material 0304SBT15KP - Compacted Type 1 & 5 Base, Acceptance Action Generic 0304SBT15KP is insufficient.	ricksc3: Both QC and QA performed compaction tests on 10/14 with passing grades. It is possible the tests have not been fully processed in that time.	ricksc3	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0057, Item 7034212, Project Item Line Number 0310, Material Set 703421296, Material 1036RSDFEC42M22 - Rein Steel EC No. 7/M22 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	ricksc3: This PAL has been submitted. Working with Materials to resolve.	ricksc3	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0057, Item 7034212, Project Item Line Number 0310, Material Set 703421296, Material 0501CCB2MDA - Concrete, Modified B-2 w/Air, Acceptance Action Generic 0501CCB2MDA is insufficient.	ricksc3: Air slump tests have been entered. There has not been sufficient time for any other testing. Will verify and enter testing before next estimate. 5% has been withheld per EPG.	ricksc3	Overridden
Estimate Exception Type: Insufficient Materials: Project JCD0057, Item 7034212, Project Item Line Number 0310, Material Set 703421296, Material 3703SIPF - Stay in Place Forms, Acceptance Action Generic 3703SIPF is insufficient.	ricksc3: This PAL has been submitted. Working with Materials to resolve.	ricksc3	Overridden

Revision 5/29/2025 Page 4 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

	antities and	d Values	are base	d on Report Generated date and can differ from the post			ime the Estii	mate wa	s Generated		
t Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
JCD0057	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$15,000.00	\$0.00
	0001	0020	2071000	LINEAR GRADING CLASS 1	1.40	0.00	1.40	STA	0.00	\$1,250.00	\$0.0
	0001	0030	2153000	SHAPING SLOPES, CLASS III	6.00	0.00	6.00	100F	0.00	\$1,100.00	\$0.00
	0001	0040	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	278.00	0.00	278.00	SQYD	278.00	\$18.00	\$5,004.0
	0001	0050	4019905	MISC.OPTIONAL PAVEMENT (10" HMA OR 8" JPCP)	277.80	0.00	277.80	SQYD	263.90	\$95.00	\$25,070.50
	0001	0060	6096010A	FURNISHING TYPE 1 ROCK DITCH LINER	11.00	0.00	11.00	CUYD	0.00	\$75.00	\$0.00
	0001	0070	6096041	PLACING TYPE 1 ROCK DITCH LINER	11.00	0.00	11.00	CUYD	0.00	\$75.00	\$0.00
	0001	0800	6161005	CONSTRUCTION SIGNS	174.00	0.00	174.00	SQFT	174.00	\$18.00	\$3,132.00
	0001	0090	6161025	CHANNELIZER (TRIM-LINE)	50.00	0.00	50.00	EA	50.00	\$18.00	\$900.00
	0001	0100	6161030	TYPE 3 MOVEABLE BARRICADE	10.00	0.00	10.00	EA	10.00	\$185.00	\$1,850.0
	0001	0110	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	2.00	0.00	2.00	EA	2.00	\$3,000.00	\$6,000.00
	0001	0120	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$35,000.00	\$35,000.00
	0001	0130	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	601.00	0.00	601.00	LF	0.00	\$1.00	\$0.00
	0001	0140		4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	601.00	0.00	601.00	LF	0.00	\$1.00	\$0.00
	0001	0150	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	32.00	0.00	32.00	SQYD	32.00	\$10.00	\$320.00
		0160	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$500.00	\$500.00
	0001	0170	8059901	MISC.SEEDING - COOL SEASON GRASSES	1.00	0.00	1.00	LS	0.00	\$3,350.00	\$0.00
		0180	8061005	ROCK DITCH CHECK	76.00	0.00	76.00	LF	0.00	\$13.00	\$0.00
	0001	0190	8061016	SEDIMENT REMOVAL	12.00	0.00	12.00	CUYD	0.00	\$10.00	\$0.00
		0200	8061019	SILT FENCE	796.00	0.00	796.00	LF	410.00	\$2.95	\$1,209.50
	0010	0210	6061060 6061069	MGS GUARDRAIL MGS BRIDGE APPROACH TRANSITION SECTION	50.00 4.00	0.00	50.00 4.00	LF EA	0.00	\$26.00 \$3,600.00	\$0.00
	0010	0230	6063014	(REGULAR/NO CURB) TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	0.00	\$3,200.00	\$0.00
	0070	0240	2024043	REMOVAL OF MISCELLANEOUS ACM (NON-FRIABLE)	15.00	0.00	15.00	SQFT	15.00	\$250.00	\$3,750.00
	0070	0250	2061000	CLASS 1 EXCAVATION	40.00	0.00	40.00	CUYD	40.00	\$40.00	\$1,600.00
	0070	0260	2065500	TEMPORARY SHORING	1.00	0.00	1.00	LS	1.00	\$150.00	\$150.00
	0070	0270	2162500	REMOVAL OF EXISTING BRIDGE DECK	4,920.00	0.00	4,920.00	SQFT	4,920.00	\$9.00	\$44,280.00
	0070	0280	2163502	PARTIAL REMOVAL OF SUBSTRUCTURE CONCRETE	1.00	0.00	1.00	LS	1.00	\$7,500.00	\$7,500.00
	0070	0290	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	127.00	0.00	127.00	SQYD	120.65	\$225.00	\$27,146.25
	0070	0300	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	19.50	0.00	19.50	CUYD	18.50	\$875.00	\$16,187.50
	0070	0310	7034212	SLAB ON STEEL	547.00	0.00	547.00	SQYD	519.65	\$295.00	\$153,296.75
	0070	0320	7034219A	TYPE D BARRIER	353.00	0.00	353.00	LF	0.00	\$90.00	\$0.00
	0070	0330	7040101	SUBSTRUCTURE REPAIR (FORMED)	80.00	0.00	80.00	SQFT	80.00	\$175.00	\$14,000.00
	0070	0340	7110200	PROTECTIVE COATING - CONCRETE BENTS AND PIERS (EPOXY)	1.00	0.00	1.00	LS	0.00	\$4,000.00	\$0.00
	0070	0350	7123610	SLAB DRAIN	24.00	0.00	24.00	EA	24.00	\$350.00	\$8,400.00
	0070	0360	7126000	NON-DESTRUCTIVE TESTING	53.00	0.00	53.00	LF	0.00	\$40.00	\$0.00
	0070	0370	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	2.00	\$2,250.00	\$4,500.00
	0070	0380	7161003	LAMINATED NEOPRENE BEARING PAD (TAPERED)	4.00	0.00	4.00	EA	4.00	\$300.00	\$1,200.00
_		tal Value	Posted to D	Date as of Report Generated Date							\$360,996.50
JCD0115		0390	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$15,000.00	\$15,000.00
	0001	0400	2071000	LINEAR GRADING CLASS 1	1.40	0.00	1.40	STA	1.40	\$1,250.00	\$1,750.00
	0001	0410	2153000	SHAPING SLOPES, CLASS III	6.00	0.00	6.00	100F	6.00	\$1,100.00	\$6,600.00
	0001	0420	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	278.00	0.00	278.00	SQYD	278.00	\$15.00	\$4,170.00
	0001	0430	4019905	MISC.OPTIONAL PAVEMENT (10" HMA OR 8" JPCP)	277.80	0.00	277.80	SQYD	277.80	\$95.00	\$26,391.00
	0001	0440	6096010A	FURNISHING TYPE 1 ROCK DITCH LINER	11.00	0.00	11.00	CUYD	11.00	\$75.00	\$825.00
	0001	0450	6096041	PLACING TYPE 1 ROCK DITCH LINER	11.00	0.00	11.00	CUYD	11.00	\$75.00	\$825.00
	0001	0460	6161005	CONSTRUCTION SIGNS	849.00	0.00	849.00	SQFT	849.00	\$7.50	\$6,367.50
	0001	0470	6161025	CHANNELIZER (TRIM-LINE)	50.00	0.00	50.00	EA	50.00	\$18.00	\$900.0
	0001	0480	6161030	TYPE 3 MOVEABLE BARRICADE	10.00	0.00	10.00	EA	10.00	\$185.00	\$1,850.0
	0001	0490	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	2.00	0.00	2.00	EA	2.00	\$3,000.00	\$6,000.00
	0001	0500	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$35,000.00	\$35,000.00
	0001	0510	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING	834.00	0.00	834.00	LF	834.00	\$1.00	\$834.00
	0001			PAINT, TYPE P BEADS							

Revision 5/29/2025 Page 5 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

intract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
1115-	JCD0115				MARKING PAINT, TYPE P BEADS							
)5		0001	0530	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	32.00	0.00	32.00	SQYD	32.00	\$10.00	\$320.00
		0001	0540	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$500.00	\$500.00
		0001	0550	8059901	MISC.SEEDING - COOL SEASON GRASSES	1.00	0.00	1.00	LS	0.00	\$3,350.00	\$0.00
		0001	0560	8061005	ROCK DITCH CHECK	84.00	8.00	92.00	LF	92.00	\$13.00	\$1,196.00
		0001	0570	8061016	SEDIMENT REMOVAL	14.00	0.00	14.00	CUYD	0.00	\$10.00	\$0.00
		0001	0580	8061019	SILT FENCE	934.00	-524.00	410.00	LF	410.00	\$2.95	\$1,209.50
		0010	0590	6061060	MGS GUARDRAIL	150.00	0.00	150.00	LF	150.00	\$26.00	\$3,900.00
		0010	0600	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	4.00	\$3,600.00	\$14,400.00
		0010	0610	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	4.00	\$3,200.00	\$12,800.00
		0070	0620	2024043	REMOVAL OF MISCELLANEOUS ACM (NON-FRIABLE)	25.00	0.00	25.00	SQFT	25.00	\$250.00	\$6,250.00
		0070	0630	2162500	REMOVAL OF EXISTING BRIDGE DECK	8,528.00	0.00	8,528.00	SQFT	8,528.00	\$9.00	\$76,752.00
		0070	0640	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	132.00	0.00	132.00	SQYD	132.00	\$225.00	\$29,700.00
		0070	0650	7034212	SLAB ON STEEL	945.00	0.00	945.00	SQYD	945.00	\$285.00	\$269,325.00
		0070	0660	7034219A	TYPE D BARRIER	555.00	0.00	555.00	LF	555.00	\$90.00	\$49,950.00
		0070	0670	7040101	SUBSTRUCTURE REPAIR (FORMED)	75.00	0.00	75.00	SQFT	75.00	\$150.00	\$11,250.00
		0070	0680	7110200	PROTECTIVE COATING - CONCRETE BENTS AND PIERS (EPOXY)	1.00	0.00	1.00	LS	1.00	\$8,600.00	\$8,600.00
		0070	0690	7123610	SLAB DRAIN	52.00	0.00	52.00	EA	52.00	\$400.00	\$20,800.00
		0070	0700	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	2.00	\$2,250.00	\$4,500.00
		0070	0710	7172054	OPEN CELL FOAM JOINT SEAL	56.00	0.00	56.00	LF	56.00	\$65.00	\$3,640.00
	Project JC	D0115 - To	tal Value	Posted to D	ate as of Report Generated Date							\$622,439.00
115-D	05 Overall	- Total Val	ue Poste	d to Date as	of Report Generated Date							\$983,435.50

Revision 5/29/2025 Page 6 of 12



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: JCD0057

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0040	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	10/14/25	10/15/25	1	278.00	SQYD	Bridge A2358, Jamestown, MO, Moniteau County:					Base rock was installed for both Approaches on either side of the bridge. Compaction tests were performed by both MoDOT inspector and CMPS.
0050	4019905	MISC.	10/15/25	10/15/25	1	152.80	SQYD	Bridge A2358, Jamestown, MO, Moniteau County:					35% for forms set up. 20% for steel on the ground.
0120	6181000	MOBILIZATION	10/2/25	10/15/25	1	0.50	LS	Bridge A2358, Jamestown, MO, Moniteau County					Remaining 50% of mobilization for reaching 20% and 30% of contract. Which they will reach with the deck pour on 10/9/2025.
0150	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	10/7/25	10/16/25	1	32.00	SQYD	Bridge A2358, Jamestown, MO, Moniteau County:					Installed along bent 1 and bent 4.
0200	8061019	SILT FENCE	10/7/25	10/16/25	1	410.00	LF	Bridge A2358, Jamestown, MO, Moniteau County					Silt Fence installed. Field conditions differed and it was agreed between Lehman, E&C and MoDOT that the full amount was not required.
0240	2024043	REMOVAL OF MISCELLANEOUS ACM NON-FRIABLE	10/15/25	10/15/25	1	15.00	SQFT	Bridge A2358, Jamestown, MO, Moniteau County:					
0290	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	10/14/25	10/15/25	1	69.85	SQYD	Bridge A2358, Jamestown, MO, Moniteau County:					20% for Forms set in place. 35% for steel on the ground.
			10/15/25	10/15/25	1	50.80	SQYD	Bridge A2358, Jamestown, MO, Moniteau County:					40% paid for Concrete poured on 10/15
0310	7034212	SLAB ON STEEL	10/2/25	10/15/25	1	191.45	SQYD	Bridge A2358, Jamestown, MO, Moniteau County					35% paid for Deck forms in place
			10/6/25	10/8/25	1	109.40	SQYD	Bridge A2358, Jamestown, MO, Moniteau County:					20% of Item #310 for Rebar on the deck.
			10/9/25	10/15/25	1	218.80	SQYD	Bridge A2358, Jamestown, MO, Moniteau County:					40% paid for concrete for Bridge Deck.
0330	7040101	SUBSTRUCTURE REPAIR (FORMED)	10/2/25	10/15/25	1	80.00	SQFT	Bridge A2358, Jamestown, MO, Moniteau County:					80 SQFT was utilized for the substructure repair around bent 1.
0350	7123610	SLAB DRAIN	10/2/25	10/15/25	1	24.00	EA	Bridge A2358, Jamestown, MO, Moniteau County:					All 24 Drains were installed.
0370	7151001	VERTICAL DRAIN AT END BENTS	10/7/25	10/16/25	1	2.00	EA	Bridge A2358, Jamestown, MO, Moniteau County					2 drains installed at bent 1 and bent 4

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 6/5/2025 Page 7 of 12



JCD0057 0840 TYPE 1	UCDOMON Color Co	Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
ACCRECATE 1	ACCRECATE 2005 100				Туре	Adjustment Type	Number	Date	Ву		
THUCK 12	12 Cot 16. SYSTEM S.004.00 The adjustment offects the original ayolen-generated Absorbed Pyremet Estimate Exception 1 on the current Pyremet Estimate (Stockale Transaction Occasion Cur	JCD0057	0040	AGGREGATE	Material		12		SYSTEM	(\$5,004.00)	
Moderate 100	Material Total						12		SYSTEM	\$5,004.00	Estimate Item Adjustment (0001) due to user ricksc3 overridding Payment
1000 1000	Material - Total					- Total				\$0.00	
Content	Content				Material - Tota	ı				\$0.00	
Construction Stockple STM - Total \$423.00	CUARDINAL Studying Study -Total Sec200 Sec200 S		0040 -	Total						\$0.00	
Construction Stockpile STM1 - Total S629 00	Construction Stockpile STM1 - Total Sc220 - Form Sc220 - Total Sc220 - Sc220 Sc220 - Sc220 Sc220 - Sc220 Sc220 - Sc220 - Sc220 Sc220 - Sc220 - Sc220 Sc220 - Sc220 - Sc220 Sc220 -		0210		Stockpile	Total	2		SYSTEM		Payment Estimate Item Adjustment generated Stockpile Transaction
	O210 - Total				Construction						
	Mode SRIDIGE State		0210	Total	Construction	Stockpile 311	vii - Totai				
APP-TRANS Stockpile 2025 \$1,200,00	APP-TRANS Stockpile 2025 351M - Total 58,240.00				Construction		2	Mar 3	SYSTEM		Payment Estimate Item Adjustment generated Stockhile Transaction
Construction Stockpile STMI - Total \$8,240.00	100-05 1		0220	APP. TRANS SEC (REG/NO	Stockpile	2025			0.0.2		Taylor Land to the Against gold and the Again and the Agai
17 17 17 17 17 17 17 17	17-17 17-18 17-1			CURB)	O material and		MI T-4-1				
1	1		0000	Tatal	Construction	Stockpile ST	VII - Total				
CRASH/WORTHY Stockpile 2025	CRASHWORTHY Slockpile 2025 2025 56,760.00				Construction		2	Mar 2	QVQTEM4		Payment Setimate Item Adjustment generated Steelenile Transaction
Construction Stockpile STMI - Total \$8,760.00	Construction Stockpile STMI - Total \$8,760.00		0230	CRASHWORTHY	Stockpile		2		STSTEM		Payment Estimate item Adjustment generated Stockpile Transaction
12	12										
0.290 REDGE REPORCE REPORT RE	12				Construction	Stockpile STI	VII - Total				
APPROACH SLAB (MINOR ROAD)	APPROACH SLAB (MINOR ROAD)										
ROAD 12 2025 SYSTEM \$27,146,25 This adjustment offsets the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate.	ROAD 12 2025 SYSTEM \$27,146.25 Ethias place the original system-generated Material Payment Estimate Exception 2 on the current Payment Estimate.		0290	APPROACH	Material		12		SYSTEM	(\$27,146.25)	
Material - Total S0.00	Material - Total S0.00						12		SYSTEM	\$27,146.25	Estimate Item Adjustment (0002) due to user ricksc3 overridding Payment
O290 - Total						- Total				\$0.00	
12	12				Material - Tota	tal				\$0.00	
2025 12	2025 12		0290 -	Total						\$0.00	
Company	Company Comp		0310	SLAB ON STEEL	Material		12		SYSTEM	(\$153,296.75)	
Material - Total \$0.00	Material - Total S0.00						12		SYSTEM	\$153,296.75	Estimate Item Adjustment (0003) due to user ricksc3 overridding Payment
Solid Soli	Solid Soli					- Total				\$0.00	
JCD0057 - Total	JCD0057 - Total S15,629.00				Material - Tota	ıl				\$0.00	
JCD0115 0420 TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	DCD0115		0310 -	Total							
AGGREGATE FOR BASE (4 IN. THICK) - Total - Tot	AGGREGATE FOR BASE (4 IN. THICK) - Total - Tot	JCD0057 -	Total							\$15,629.00	
THICK) 7	THICK) - Total - To	JCD0115	0420	AGGREGATE	Material		6		SYSTEM	(\$4,170.00)	
Material - Total 7 Aug 4, 2025 SYSTEM \$4,170.00	Material - Total						7		SYSTEM	(\$4,170.00)	
MaterialCredit	MaterialCredit 7					- Total				(\$8,340.00)	
2025	2025				Material - Tota	ı				(\$8,340.00)	
2025	2025				MaterialCredit		7	Aug 4, 2025	SYSTEM	\$4,170.00	
- Total \$8,340.00 MaterialCredit - Total \$8,340.00 0420 - Total \$0.00 0430 MISC. Material 5 Jul 2, 2025 SYSTEM (\$26,391.00) 5 Jul 2, SYSTEM \$26,391.00 This adjustment offsets the original system-generated Material Payment	Total \$8,340.00						8	Aug 18,	SYSTEM	\$4,170.00	
0420 - Total \$0.00 0430 MISC. Material 5 Jul 2, 2025 SYSTEM (\$26,391.00) This adjustment offsets the original system-generated Material Payment 5 Jul 2, SYSTEM \$26,391.00 This adjustment offsets the original system-generated Material Payment	0420 - Total \$0.00 0430 MISC. Material 5 Jul 2, 2025 SYSTEM (\$26,391.00) 5 Jul 2, 2025 SYSTEM \$26,391.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user ricksc3 overridding Payment					- Total				\$8,340.00	
0420 - Total \$0.00 0430 MISC. Material 5 Jul 2, 2025 SYSTEM (\$26,391.00) This adjustment offsets the original system-generated Material Payment 5 Jul 2, SYSTEM \$26,391.00 This adjustment offsets the original system-generated Material Payment	0420 - Total \$0.00 0430 MISC. Material 5 Jul 2, 2025 SYSTEM (\$26,391.00) 5 Jul 2, 2025 SYSTEM \$26,391.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user ricksc3 overridding Payment										
2025 5 Jul 2, SYSTEM \$26,391.00 This adjustment offsets the original system-generated Material Payment	5 Jul 2, SYSTEM \$26,391.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user ricksc3 overridding Payment		0420 -	Total						\$0.00	
5 Jul 2, SYSTEM \$26,391.00 This adjustment offsets the original system-generated Material Payment	5 Jul 2, SYSTEM \$26,391.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user ricksc3 overridding Payment		0430	MISC.	Material		5		SYSTEM	(\$26,391.00)	
							5	Jul 2,	SYSTEM	\$26,391.00	Estimate Item Adjustment (0001) due to user ricksc3 overridding Payment



Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
			Type	Adjustment Type	Number	Date	Ву		
JCD0115	0430	MISC.	Material		6	Jul 16, 2025	SYSTEM	(\$26,391.00)	
					6	Jul 16, 2025	SYSTEM	\$26,391.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user ricksc3 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					7	Aug 4, 2025	SYSTEM	(\$26,391.00)	
					7	Aug 4, 2025	SYSTEM	\$26,391.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user ricksc3 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					8	Aug 18, 2025	SYSTEM	(\$26,391.00)	
					8	Aug 18, 2025	SYSTEM	\$26,391.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user ricksc3 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	Estimate Exception 1 on the current Payment Estimate.
			Material - Tota	al				\$0.00	
	0430	- Total						\$0.00	
	0510	4 IN. WHITE WATERBORNE PAVEMENT MARKING	Material		6	Jul 16, 2025	SYSTEM	(\$834.00)	
					6	Jul 16, 2025	SYSTEM	\$834.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user ricksc3 overridding Payment Estimate Exception 8 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
	0510	- Total						\$0.00	
	0520	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	Material		6	Jul 16, 2025	SYSTEM	(\$834.00)	
					6	Jul 16, 2025	SYSTEM	\$834.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user ricksc3 overridding Payment Estimate Exception 9 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	al				\$0.00	
	0520	- Total						\$0.00	
	0560	ROCK DITCH CHECK	Overrun	Overrun	3	Jun 2, 2025	SYSTEM	(\$104.00)	
					3	Jun 2, 2025	SYSTEM	\$104.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user ricksc3 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					4	Jun 16, 2025	SYSTEM	(\$104.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					4	Jun 16, 2025	SYSTEM	\$104.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user ricksc3 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					5	Jul 2, 2025	SYSTEM	(\$104.00)	Averaged Price Adjustment from this item on all previous payment estimates
									of '0.00000' is applied (if non-zero).
					5	Jul 2, 2025	SYSTEM	\$104.00	of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user ricksc3 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					5	Jul 2,	SYSTEM	\$104.00 (\$104.00)	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user ricksc3 overridding Payment
						Jul 2, 2025 Jul 16,		,	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user ricksc3 overridding Payment Estimate Exception 7 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates
					6	Jul 2, 2025 Jul 16, 2025 Jul 16,	SYSTEM	(\$104.00)	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user ricksc3 overridding Payment Estimate Exception 7 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user ricksc3 overridding Payment
					6	Jul 2, 2025 Jul 16, 2025 Jul 16, 2025 Aug 4,	SYSTEM SYSTEM	(\$104.00) \$104.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user ricksc3 overridding Payment Estimate Exception 7 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user ricksc3 overridding Payment Estimate Exception 12 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates
					6 6 7	Jul 2, 2025 Jul 16, 2025 Jul 16, 2025 Aug 4, 2025 Aug 4,	SYSTEM SYSTEM SYSTEM	(\$104.00) \$104.00 (\$104.00)	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user ricksc3 overridding Payment Estimate Exception 7 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user ricksc3 overridding Payment Estimate Exception 12 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user ricksc3 overridding Payment



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JCD0115	0560	ROCK DITCH CHECK	Overrun	Overrun	9	Sep 2, 2025	SYSTEM	(\$104.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					9	Sep 2, 2025	SYSTEM	\$104.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user ricksc3 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					10	Sep 16, 2025	SYSTEM	(\$104.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
					10	Sep 16, 2025	SYSTEM	\$104.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user ricksc3 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				Overrun - Total				\$0.00	
			Overrun - Total					\$0.00	
	0560 -	Total						\$0.00	
	0590	MGS GUARDRAIL	Construction Stockpile		6	Jul 16, 2025	SYSTEM	(\$1,909.50)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$1,909.50)	
			Construction Stockpile - Total					(\$1,909.50)	
			Construction Stockpile STMI		2	Mar 3, 2025	SYSTEM	\$1,909.50	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$1,909.50	
			Construction	Stockpile STI	VII - Total			\$1,909.50	
			Material		6	Jul 16, 2025	SYSTEM	(\$3,900.00)	
					6	Jul 16, 2025	SYSTEM	\$3,900.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user ricksc3 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					7	Aug 4, 2025	SYSTEM	(\$3,900.00)	
					7	Aug 4, 2025	SYSTEM	\$3,900.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user ricksc3 overridding Payment Estimate Exception 6 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Tota	ıl				\$0.00	
	0590 -	Total						\$0.00	
	0600	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	Construction Stockpile		6	Jul 16, 2025	SYSTEM	(\$8,240.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$8,240.00)	
			Construction	Stockpile - To	otal			(\$8,240.00)	
			Construction Stockpile STMI		2	Mar 3, 2025	SYSTEM	\$8,240.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$8,240.00 \$8,240.00	
		Construction Stockpile STMI - Total							
	0600 -							\$0.00	
	0610	TYPE A CRASHWORTHY END TERMINAL (MASH)	Construction Stockpile		6	Jul 16, 2025	SYSTEM	(\$6,760.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$6,760.00)	
			Construction	Construction Stockpile - Total					
			Construction Stockpile STMI		2	Mar 3, 2025	SYSTEM	\$6,760.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$6,760.00	
			Construction Stockpile STMI - Total					\$6,760.00	
	0610 -							\$0.00	
	0640	BRIDGE APPROACH SLAB (MINOR ROAD)	Material		5	Jul 2, 2025	SYSTEM	(\$29,700.00)	
					5	Jul 2, 2025	SYSTEM	\$29,700.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user ricksc3 overridding Payment Estimate Exception 5 on the current Payment Estimate.
					8	Aug 18, 2025	SYSTEM	(\$29,700.00)	
					8	Aug 18,	SYSTEM	\$29,700.00	This adjustment offsets the original system-generated Material Payment





oject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0115	0640	BRIDGE APPROACH SLAB (MINOR ROAD)	Material			2025			Estimate Item Adjustment (0004) due to user ricksc3 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					9	Sep 2, 2025	SYSTEM	(\$29,700.00)	
					9	Sep 2, 2025	SYSTEM	\$29,700.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user ricksc3 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					10	Sep 16, 2025	SYSTEM	(\$29,700.00)	
					10	Sep 16, 2025	SYSTEM	\$29,700.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user ricksc3 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Total					\$0.00	
	0640 -	Total						\$0.00	
	0650	SLAB ON STEEL	Material		4	Jun 16, 2025	SYSTEM	(\$255,858.75)	
					4	Jun 16, 2025	SYSTEM	\$255,858.75	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user ricksc3 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Total					\$0.00	
	0650 -	Total						\$0.00	
		TYPE D BARRIER	Material		5	Jul 2, 2025	SYSTEM	(\$47,452.50)	
					5	Jul 2, 2025	SYSTEM	\$47,452.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user ricksc3 overridding Payment Estimate Exception 6 on the current Payment Estimate.
					6	Jul 16, 2025	SYSTEM	(\$49,950.00)	
					6	Jul 16,	OVOTELA		
					0	2025	SYSTEM	\$49,950.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user ricksc3 overridding Payment Estimate Exception 11 on the current Payment Estimate.
				- Total			SYSTEM	\$49,950.00 \$0.00	Estimate Item Adjustment (0010) due to user ricksc3 overridding Payment
			Material - Tota				SYSTEM		Estimate Item Adjustment (0010) due to user ricksc3 overridding Payment
	0660 -	Total	Material - Tota				SYSTEM	\$0.00	Estimate Item Adjustment (0010) due to user ricksc3 overridding Payment
		Total SLAB DRAIN	Material - Tota		4		SYSTEM	\$0.00 \$0.00	Estimate Item Adjustment (0010) due to user ricksc3 overridding Payment
						2025 Jun 16,		\$0.00 \$0.00 \$0.00	Estimate Item Adjustment (0010) due to user ricksc3 overridding Payment
					4	Jun 16, 2025 Jun 16,	SYSTEM	\$0.00 \$0.00 \$0.00 (\$20,800.00)	Estimate Item Adjustment (0010) due to user ricksc3 overridding Payment Estimate Exception 11 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user ricksc3 overridding Payment
				l - Total	4	Jun 16, 2025 Jun 16,	SYSTEM	\$0.00 \$0.00 \$0.00 (\$20,800.00) \$20,800.00	Estimate Item Adjustment (0010) due to user ricksc3 overridding Payment Estimate Exception 11 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user ricksc3 overridding Payment
		SLAB DRAIN	Material	l - Total	4	Jun 16, 2025 Jun 16,	SYSTEM	\$0.00 \$0.00 \$0.00 (\$20,800.00) \$20,800.00	Estimate Item Adjustment (0010) due to user ricksc3 overridding Payment Estimate Exception 11 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user ricksc3 overridding Payment
	0690 -	SLAB DRAIN	Material	l - Total	4	Jun 16, 2025 Jun 16,	SYSTEM	\$0.00 \$0.00 \$0.00 (\$20,800.00) \$20,800.00	Estimate Item Adjustment (0010) due to user ricksc3 overridding Payment Estimate Exception 11 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user ricksc3 overridding Payment

MoDOT

Contract Adjustments for Contract - 241115-D05

There are no contract adjustments to display for this contract.

Revision 5/29/2025 Page 12 of 12